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1. 听力选择题　　　　　　　　 　　　　 　　　　 　 　　
What is the woman’s plan for this weekend？
A. To get her car fixed.
B. To help her son with the schoolwork.
C. To have a family get away.

2. 听力选择题　　　　　　　　 　　　　 　　　　 　 　　
Why is the man unhappy？
A. Because he was not told the news earlier.
B. Because he had to cancel the meeting.
C. Because he had to put off the meeting.

3. 听力选择题　　　　　　　　 　　　　 　　　　 　 　　
What is the man's view？
A. Information technology will replace teachers.
B. Information technology won't replace teachers.
C. Information technology will replace face-to-face communication.

4. 听力选择题　　　　　　　　 　　　　 　　　　 　 　　
What job does the woman want to do after graduation？
A. To be a lawyer. B. To be a teacher. C. To be a doctor.

5. 听力选择题　　　　　　　　 　　　　 　　　　 　 　　
Who enjoys armchair travelling？
A.The man’s mother B.The man’s father. C.The woman’s mother.

6. 听力选择题　　　　　　　　 　　　　 　　　　 　 　　
听下面一段较长对话，回答以下小题。

【1】What are some people worried about?
A.China's large population.
B.China's ability to feed her people.
C.The difficulty China has.
【2】What can China take pride in now?
A.The development in super rice.
B.The amount of good arable land.
C.The number of skilled farmers.

7. 听力选择题　　　　　　　　 　　　　 　　　　 　 　　
听下面一段较长对话，回答以下小题。

【1】How did the teacher answer his student’s question？
A.Directly. B.Angrily. C.Indirectly.
【2】Which of the following is closest in meaning to the teacher’s answer？
A.A bird in the hand is worth two in the bush.
B.More haste, less speed.
C.Two heads are better than one.

8. 听力选择题　　　　　　　　 　　　　 　　　　 　 　　
听下面一段较长对话，回答以下小题。

【1】How does the woman know the man ate the cookie？
A. Others told her.
B. She saw him in person.
C. She saw him on the video camera.
【2】Why did the man lie？
A. Because he didn't want to pay.
B. Because he thought the cookie tasted bad.
C. Because he thought the cookie was too expensive.
【3】What happened at the end of the conversation？
A. The speakers went to the back of the store.
B. The woman called the police.
C. The man paid for the cookie.

9. 听力选择题　　　　　　　　 　　　　 　　　　 　 　　
听下面一段较长对话，回答以下小题。

【1】What event are the speakers attending？
A. A wedding. B. A dinner party. C. An anniversary celebration.
【2】What does the woman want most right now？
A. To dance. B. To eat something. C. To change her clothes.
【3】What did the man eat when he first arrived？
A. Some cake. B. Some cheese. C. Fish and rice.
【4】According to the woman,what probably cost a lot of money？
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